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PROBABILITY

One Marks Question With Answer

1. Describe the sample space for the indicated experiments

A coin is tossed 3 times

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vhZ3tgzYrZhV
https://dl.doubtnut.com/l/_6pItlW3E5GI0


2. Describe the sample space for the indicated experiments

A coin is tossed and a die is thrown

Watch Video Solution

3. Describe the sample space for the indicated

experiments. 

A coin is tossed and then a die is rolled only in case a head

is shown on the coin

Watch Video Solution

4. Describe the sample space for the indicated

experiments.

An experiment conslsts of tossing a coin and then

https://dl.doubtnut.com/l/_6pItlW3E5GI0
https://dl.doubtnut.com/l/_nJKKrcePJ6lb
https://dl.doubtnut.com/l/_vBipuJ86V9Ni


throwing it second time if a head occurs.If a tail occurs on

the first toss then a die is rolled once

Watch Video Solution

5. Describe the sample space for the indicated

experiments.

A box contins 1 red 3 identical white balls. Two balls re

drawn in succession without replacement.

Watch Video Solution

6. Describe the sample space for the indicated experiment.

Two dice are thrown and the sun of the numbers which

come on the dice is less than 4

https://dl.doubtnut.com/l/_vBipuJ86V9Ni
https://dl.doubtnut.com/l/_yHn46Tvmkkq5
https://dl.doubtnut.com/l/_yKX3bBii2B1A


Watch Video Solution

7. Describe the sample space for the indicated

experiments. 

A coin is tossed three times and exactly one head appears.

Watch Video Solution

8. One card is drawn from a well shuffled deck of 52 cards.If

each out come is equally likely calculated the probability

that the card will be 

(i) a diamond 

( ii) not a diamond

Watch Video Solution

https://dl.doubtnut.com/l/_yKX3bBii2B1A
https://dl.doubtnut.com/l/_5pb1HZzPNHtN
https://dl.doubtnut.com/l/_YK7UqW8DguOx


Two Marks Question With Answer

1. A beg contains 10 balls of which 5 are red 3 are blue and

2 are yellow.Calculated the probability that it will be (i) red

(ii) blue (iii) either red or blue.

Watch Video Solution

2. A committee of two persons is selected from two men

and two women.What is the probability that the

committee will have (i) no men (ii)two men

Watch Video Solution

https://dl.doubtnut.com/l/_YK7UqW8DguOx
https://dl.doubtnut.com/l/_e9DSa43rgVdC
https://dl.doubtnut.com/l/_SvwS7shUdeVg
https://dl.doubtnut.com/l/_MWKAp4GNxIUa


3. A coin is tossed twice.What is the probability that

atleast one tail occurs?

Watch Video Solution

4. A die is thrown once Find the probability that a prime

numbers will appear

Watch Video Solution

5. A card is selected from a pack of 52 cards.Find the

probability that the card drawn is 

(i) an ace 

(ii) black card

W h Vid S l i

https://dl.doubtnut.com/l/_MWKAp4GNxIUa
https://dl.doubtnut.com/l/_YNg4VFVFo5xq
https://dl.doubtnut.com/l/_o9geFUh0vKNS


Watch Video Solution

6. Three coins are tossed once.Find the probability of

getting atleast two heads

Watch Video Solution

7. Three are 4 men and 6 women in a city council.If one

council member is selected for a committee at random

how likely is it that it is women ?

Watch Video Solution

https://dl.doubtnut.com/l/_o9geFUh0vKNS
https://dl.doubtnut.com/l/_GRD1oVfg14Qb
https://dl.doubtnut.com/l/_iY6lixVnHcHt


8. What is the probability that 4 cards drawn at random

from a well-shuffled pack of playing cards belong to

different suits?

Watch Video Solution

9. Bag I contains 3 red and 4 black balls. While Bag II

contains 5 red and 6 black balls. One ball is drawn at

random from one of the bags and it is found to be red.

Find the probability that it was drawn from Bag II.

Watch Video Solution

https://dl.doubtnut.com/l/_uoEpBz7T6IDR
https://dl.doubtnut.com/l/_v0tZ788fzP25


10. A bag contains 5 tennis balls and 4 cricket balls. Three

balls are drawn at random trom the bag. Find the

probability that 

(i) all the drawn balls are cricket balls 

( ii) atleast one of the drawn balls is cricket ball

Watch Video Solution

11. In a class of 100 students 60 drinks tea. 50 drink coffee

and 30 drink both .A students from this class is selected at

random.Find the probability that the student takes 

(i) atleast one of the two drinks 

(ii) only one of the two drinks

Watch Video Solution

https://dl.doubtnut.com/l/_rMy7BLwxR0tG
https://dl.doubtnut.com/l/_ou46mgZH0UrI


12. Suppose 3 bulbs are selected at random from a lot.Each

bulb is tosted and classified as defective (D) ar non-

defective (N).Write the sample space of this experiment.

Watch Video Solution

13. A coin is tossed.If its shows a tail we draw a ball from a

box which contains 2 red and 3 black balls.If it shows head

we throw a die.Find the sample space for this experiment

Watch Video Solution

https://dl.doubtnut.com/l/_ou46mgZH0UrI
https://dl.doubtnut.com/l/_PoKtBTVUYtHM
https://dl.doubtnut.com/l/_XVaBPqDGPVP8


14. A fair coin with 1 marked on one face and 6 on the

other and a fair die are both tossed Find the probability

that the sum of numbers that turn up is (i) 3 (ii) 12

Watch Video Solution

15. A letter is chosen at random from the word

'ASSASSINATION' Find the probability that latter is a vowel

(ii) a consonant

Watch Video Solution

16. In a lottery, a person chooses six different natural

numbers at random from 1 to 20, and if these six numbers

https://dl.doubtnut.com/l/_gV2erxQuWTjs
https://dl.doubtnut.com/l/_uc04TeWqxtFq
https://dl.doubtnut.com/l/_tbOuMIJ5ScrB


match with the six numbers already fixed by the lottery

committee,he wins the prize.what is the probability of

winning the prize in the game?

Watch Video Solution

17. A and B are events such that P(A) =0.42,P(B) =0.48 and

P(A and B) =0.16 Determine (i) P( not A ) ,(ii) P(not B) ,(iii) P (

A or B)

Watch Video Solution

18. A box contains 10 red marbles, 20 blue marbles and 30

green marbles. 5 marbles are drawn from the box.What is

https://dl.doubtnut.com/l/_tbOuMIJ5ScrB
https://dl.doubtnut.com/l/_LO1qURYfaFaR
https://dl.doubtnut.com/l/_PqLLWEjockud


the probability that ( I ) all will be blue ? ( ii) atleast one

will be green?

Watch Video Solution

19. Out of 100 students,two sections of 40 and 60 are

formed.If you and your friend are among the 100

students,what is the probability that 

(a) you both enter the same section ?( b) you both enter

the different section?

Watch Video Solution

20. A and B are two events such that P(A) =0.54,P(B) =0.69

and  . Find 
P (A ∩ B) = 0.35

https://dl.doubtnut.com/l/_PqLLWEjockud
https://dl.doubtnut.com/l/_uLXHHzjpqpYR
https://dl.doubtnut.com/l/_PQVC6ivcqEWN


Watch Video Solution

(a)P (A ∪ B)(ii)P (A' ∩ B' )(iii)P (A ∩ B' )(iv)P (B ∩ A' )

https://dl.doubtnut.com/l/_PQVC6ivcqEWN

